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SN SHD
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SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
=31 79,284,806 71,889,895 7,394,911
2 18,217,217 18,212,367 4,850
2 3,562,143 3,476,000 106,143
| 118,951 107,646 1,305
< 4,440,908 3,301,870 1,139,038
ES 194,200 0 194,200
Al 52,731,387 46,792,012 5,939,375
selo ASYY Y =X 4,241,527 3,611,538 629,989
= 312,890 308,040 4,850
2 136,000 136,000 0
Jl 47,414 47,414 0
= 870,512 709,748 160,764
Al 2,874,711 2,410,336 464,375
=Pl 1,530,107 1,482,707 47,400
= 354,880 354,880 0
Al 1,175,227 1,127,827 47,400
seolctH 22 121,500 121,500 0
301 Y a3 72,400 82,400 210,000
09 BAAIHI A3 40,000 50,000 210,000
Os0ls AEYsLH2SDS 0 10,000 A10,000
307 2I2H0I 47,000 37,000 0,000
02 BABAALEE 47,000 37,000 0,000
O=018 30%E JIE#A 10,000,002 «14] 10,000 0 0,000
S0 AMBHE 2 12,400 9,000 3,400
405 XH4+ 3 S b 3,400 0 3,400
01 LS EFSH 3,400 0 3,400
0247 7Y 340, 0002 *10CH 3,400 0 3,400
ool M@ 369,000 325,000 44,000
402 212 X201 & 144,000 100,000 44,000
03 B2+ 9IS A b 144,000 100,000 44,000
Os20l K (0IXAHZHES)X AL 144,000 100,000 44,000
S0l SHX 484,986 478,057 6,929
2 312,890 308,040 4,850
= 45,909 45,285 624
Al 126, 187 124,732 1,455
dEsge Y= IRNAZ X 344,586 337,657 6.929
2 236,890 232,040 4,850
< 32,309 31,685 624
Al 75,387 73,932 1,455
307 2I2H0I H 322,986 316,057 6.929
= 226,090 221,240 4,850
= 29,069 28,445 624
Al 67,827 66,372 1,455
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02 HAFHANGEEX 322,986 316,057 6,929
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= 226,090 221,240 4,850
< 29,069 28,445 624
Al 67,827 66,372 1,455
==X KA 2,157,020 1,581,360 575,660
s 136,000 136,000 0
= 469,723 309,583 160, 140
Al 1,551,297 1,135,777 415,520
HEdsgel MAHIIEXR 374,660 299,000 75,660
=) 99,840 89,700 10, 140
Al 274,820 209,300 65,520
301 et a = 374,660 299,000 75,660
=) 99,840 89,700 10, 140
Al 274,820 209,300 65,520
12JEBE43 374,660 299,000 75,660
O0&d=sgel dutEXA 374,660 299,000 75,660
< 99,840 89,700 10, 140
Al 274,820 209,300 65,520
Nod=sMeaAANE S (DY SHN=sS 918 ST 670,000 170,000 500,000
A9l h)
s 136,000 136,000 0
=) 160,200 10,200 150,000
Al 373,800 23,800 350,000
401 Al HIZ 2018 500,000 0 500,000
=) 150,000 0 150,000
Al 350,000 0 350,000
01 A& HI 497,500 0 497,500
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J| 71,537 60,232 11,305
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201 YEr2 | 5,652 0 5,652
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OFA I 2HEZH & F bl 5,652 0 5,652
o] 5,652 0 5,652
202 04t 5,653 0 5,653
| 5,653 0 5,653
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SA BB S (EH) - NEAMY - B 0l & oI o HIDE2

-y LENS s=Z2EHISAM 14,000 0 14,000
AHOH A 142,000 0 142,000
—-ALOH GHAIDIE &S =2 FUISA 35,000 0 35,000
-AHOH SAI0tE 2= =2 FUISA 35,000 0 35,000
-ALOH SHEDIES &S =2 FUISA 32,000 0 32,000
-0f SFOIS 2LS(1) H=2 ZFHISA 20,000 0 20,000
-ALOH AMIS0IS &S =2 FHISAM 20,000 0 20,000
StH 278,000 0 278,000
“AMS0IE S =2 ZHISA 60,000 0 60,000
-E0 HOIESE & =2 FHISA 50,000 0 50,000
-E0EE HOIH =2 EHISA 40,000 0 40,000
“HIAIS AYE B2 FHISA 65,000 0 65,000
SHUEE S =2 ZUHI S A 63,000 0 63,000
SEH 266,000 0 266,000
-NME0tE S22 ZHIAY 6,000 0 6,000
-840t S22 FHIAY 30,000 0 30,000
-LEDNS B2 ZHIAY 35,000 0 35,000
-SENS(E22) 2 FUIAL 40,000 0 40,000
-Z =202 Eti+==2 FHAY 15,000 0 15,000
-CHatOtE StH+2(FAH) ZFHlAY 20,000 0 20,000
-tS0S(222) Sti+2 ALY 20,000 0 20,000
-2EitE S22 ZHAY 25,000 0 25,000
-2E0S N HA EAHAY 10,000 0 10,000
-LHEDIS(R2) =2 FHlAY 15,000 0 15,000
-AHEDOLS Eti+=2 FHIAY 20,000 0 20,000
-HE0E S22 ZHIAY 30,000 0 30,000
M= 54,000 0 54,000
“os e Hi=2 HHISA 12,000 0 12,000
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-2J|d HYUE EAXSAM 25,000 0 25,000
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-HES Eti=2 ZHISA 11,000 0 11,000
-2E RS =2 EF3A 5,000 0 5,000
olEH 185,000 0 185,000
-FHA0tE & =2 ZHISA 40,000 0 40,000
-HE0tE 27 =2 ZHI S A 20,000 0 20,000
-NSR0S 2atAL & S22 FHHISAM 15,000 0 15,000
-HAOlE 2 Eti==2 U2 A 80,000 0 80,000
—HAOIES %S E=2 HHISA 30,000 0 30,000
org ™ 180,000 0 180,000
-0tE AE &= =2 EHI3A 40,000 0 40,000
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-0fY 44 =401 SH+2 ZUISA 16,000 0 16,000
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-0t 015 SHE SHI4+2 FUIBA 16,000 0 16,000
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-0lY BS B WAE ZUIBA 50,000 0 50,000
cos 20,000 0 20,000
~AEDS AR AEZA 20,000 0 20,000
SH+E BUSH(RZE) 2,083,200 109,000 1,974,200
< 976,300 76,300 900,000
x 174,200 0 174,200
Al 932,700 32,700 900,000
401 Al HI YL 2 T 2,083,200 109,000 1,974,200
< 976,300 76,300 900,000
x 174,200 0 174,200
Al 932,700 32,700 900,000
01 A&l 2,083,200 109,000 1,974,200
OBSH NESWAE ZHIZA 130,000 0 130,000
= 130,000 0 130,000
OBXY Y& 3IHUS HE2 FUIBA 44,200 0 44,200
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OMaH HY =% SH+2 FHIAY
1,800,000,0002 *14 1,800,000 0 1,800,000
< 900,000 0 900,000
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SRSIER-L] 14,237,800 13,045,800 1,192,000
z 730,000 730,000 0
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x 20,000 0 20,000
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=2 #uy 12,380,800 11,208,800 1,172,000
401 Al HI L =2 Tl 12,380,800 11,208,800 1,172,000
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Osz=E% 1,172,000 0 1,172,000
ezs 150,000 0 150,000
-22 OIE, "4 MY SREEABA 30,000 0 30,000
-22 HId S22 SEEEIN 30,000 0 30,000
-22 ¥% T MY SETEIIA 30,000 0 30,000
-22 S =01H VY2 HXBA 30,000 0 30,000
-22 84 StaHelE ¥ SEREEIA 30,000 0 30,000
=He 27,000 0 27,000
-EHE QANHB SEHHIZA 12,000 0 12,000
-=d 502 SEHUISM 15,000 0 15,000
=S 44,000 0 44,000
-x2l - S5 ANEY SREFBA 13,000 0 13,000
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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
“HZ2E 52 S22 30,000 0 30,000
Y OIUEN SREH L ERSABA 20,000 0 20,000
-50| 2B SRHLTA 45,000 0 45,000
-HE OlHE A SEHUIBM 40,000 0 40,000
“UE =2 AHEX HHIBA 60,000 0 60,000
ol s o 80,000 0 80,000
“HROHS SFMA & =NYE SREID
At 25,000 0 25,000
-E20I2 SE UM 35,000 0 35,000
-RB0IZ RBH L SEITIBA 20,000 0 20,000
cgs 15,000 0 15,000
SBIR 02 SEEFTA 15,000 0 15,000
S2HTF(2X) 115,000 95,000 20,000
< 66,500 66,500 0
= 20,000 0 20,000
Al 28,500 28,500 0
401 A& H L= O 115,000 95,000 20,000
= 66,500 66,500 0
= 20,000 0 20,000
Al 28,500 28,500 0
01 Al 115,000 95,000 20,000
OFM-HEL 5 52 A2 22 F
20,000,000 *14 20,000 0 20,000
= 20,000 0 20,000
AR Wel L LI AY 5,550,833 4,432,416 1,118,417
2 985,940 985,940 0
2 106,143 0 106, 143
< 135,512 123,238 12,274
Al 4,303,238 323,238 1,000,000
AR HAIMY (B E) 5,550,833 932,416 1,618,417
2 985,940 985,940 0
2 106,143 0 106, 143
= 135,512 123,238 12,274
Al 4,323,238 823,238 1,500,000
401 A& HIL 2O bI 5,535,833 917,416 1,618,417
2 985,940 985,940 0
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Al 4,308,238 808,238 1,500,000
01 Al& I 5,503,531 908,714 1,614,817
SEDE-EPVEEIGEE S 1,614,817 0 1,614,817
2 106,143 0 106, 143
= 12,274 0 12,274
Al 1,496,400 0 1,496,400
03 Al = Ch bl 12,302 8,702 3,600
OEDE-EIE-TGE=E S 3,600 0 3,600




SN SHD
B S MAIIBEY
el FXFE L LIS AL

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
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401 Al HI K 201 I 0 500,000 500,000
01 A& HI 0 496,400 A 496,400
OZXNHeAMS (OIS E=) 0 496,400 N 496,400
03 Al S THHI 0 3,600 A 3,600
OZXNEeIA (OtS==) 0 3,600 A 3,600




